8/6/2021 ClassMarker - Manage Test

ClassMarker/v/

Tests Edit Test D @3 é))

Tests Groups Links

' (F) Primary 4 - Term 2 (SA1) Science (MGS) -

& Assign Test

‘ €4 Duplicate

‘ & Print ‘ ‘ i Delete

Test Introduction
+ Add Introduction

48 Questions (61 Points) Question Bank: 19,950 Questions @
Test Questions 1 Test Assignment
Question 1 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Booklet A (28 x 2 marks}
For each question from 1 to 28, four options are given. One of them is the correct answer.

Four pupils observed four animals, R, 5, T and U and each made statements
about the animals shown balow.

Ben R i5 a bird because it swims.

Mesara & iz a bird bacause it has feathars,

Rahman T is a fish because it breathes through its gills i water.
Seema L} is an amphibian because it has scales on = bady surface.

Whose HiEEﬂEn&l} itfare incorraet?

A) Benonly
B) Meera only
C) Meera, Rahman and Seema only

¥ D) Ben, Rahman and Seema only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 8th Oct 2020
Last Modified: N/A

QID#: 24,140,048
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Question 2

Study the Rowchart below,

T
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Primary 4 Science » Primary 4 Science (Term 2)

Question 3

Doss i have four stages | . P
in its life cycla? ]
Ma
Does the young a
resemile the parend? AT —
Mo
w
H #
Vitich of the following could represent Organisms P, Q and R?
P Q 1]
(13 Frog Mesquitn Grasshopper
2 Grasshopper Frog Blutbely
IE] Mosquilo Grasshopper | Frog ]
(4] Masquito Frog Grasshopper
A) 1
B) 2
v C) 3
D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,065
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The diagram below shows some bracket fungi on a tree and some mould on an
orange.

Bracket fungi on a tree Mould on an orange

Which of the following stalerment{s) about these fwo organisms islare correct?

Bath do not bear Sowars.

Eoth can be found in dry places only.

The bracke! fungi badongs to & part of the tree.

The bracket fungi make their own food while the mould gets its food from
the crange. :

DoEe

v A) Aonly
B) Aand C only
C) AandDonly
D) B andD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 8th Oct 2020

Last Modified: N/A

QID#: 24,140,081
Question 4 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

The organs below are supposed lo be grouped according o the body sysiems

that they belong to.
Skelatal System Digestive Sy=tem
Sioull Stomach :
Rircage Heari
Lungs Imestines

Which of the above are wrongly placed?

A) Skull and heart
v B) lungs and heart

C) lungs and intestines

D) ribcage and stomach
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Last Modified:

QID#:

Question 5

Multiple Choice
No

Thu 8th Oct 2020
N/A

24,140,098

Cardboand booc

N
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Flant=

Primary 4 Science » Primary 4 Science (Term 2)

Jeramy wanbed bo find oul if plants respond o sunfight. He sat up an experiment
iy similar planls as ahivem below and placed them in & garden for seven days.

Glass box

Hola .~ |

oOm=

A) AandB only
B) AandD only
¥v" C) Band Conly

D) CandD only

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 6

Setup A

Muiltiple Choice
No

Thu 8th Oct 2020
N/A

24,140,111

Set-up B

Why was the sxpariment not a Rir test?

Only one of the boxes had a hobs,

Tha plants had different numbser of leaves. |
The boxes ware made of dfferent materkals.

Tha duration of the experiment was o long.

Primary 4 Science » Primary 4 Science (Term 2)
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¢ and [ Ha gave each pal af
heights after nine days.
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John had fowur similar pots of seediings from the same type of plant, labeliad A, B,
ihe same amownt of soil and fer@zers
and gave different amount of waler io each pot dally, He measured thelr average

Pols A

'

Amount of 25
waler given
| per day {mi)

45

&0

Avarage height 10
af
seedlings{cm}

15

A) The plant need water to make food

B) The plant need air, water and light to grow

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 8th Oct 2020
Last Modified: N/A

QID#: 24,140,132

Question 7

Siudy the dagrarm below carafully,

v C) The plant grew faster when more water was given

20

What could John conclude based an the resulis be had obisined?

D) The plants reproduce faster when they received more water

Primary 4 Science » Primary 4 Science (Term 2)

give oul carbon diosds.

A) Aonly
B) Conly
v'C) AandB only

D) B andC only

Question Type: Multiple Choice

https://www.classmarker.com/a/tests/test/?test_id=1542484&trk=edittest_inrow_edit

A Thaa gilla protact the fieh from infuriea,

Which of the fellowing statements isfare ingorrect?

B The stomata can help the plant to rap sunlight.

L Haoth e stormata and the gills allow the crganisms to taka in exygen and
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Date Added:

Last Modified:

QID#:

Question 8

syaiam.

A) skeletal
B) muscular
v C) circulatory

D) respiratory

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 9

No

Thu 8th Oct 2020
N/A

24,140,139

Multiple Choice
No

Thu 8th Oct 2020
N/A

24,140,148
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Primary 4 Science » Primary 4 Science (Term 2)

The diagram below shows how wates and mineral salts ase transporied in a plant

The function of the transport system In the plant is similar o fhe -

Primary 4 Science » Primary 4 Science (Term 2)

https://www.classmarker.com/a/tests/test/?test_id=1542484&trk=edittest_inrow_edit

2 pts

2 pts

6/41


https://www.classmarker.com/a/tests/qb/manage/?test_id=1542484&question_id=24140139
https://www.classmarker.com/a/tests/qb/manage/?test_id=1542484&question_id=24140139&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1542484
https://0cm.classmarker.com/6226088_EVFPFS58.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1542484&question_id=24140148
https://www.classmarker.com/a/tests/qb/manage/?test_id=1542484&question_id=24140148&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1542484

8/6/2021

QID#.

Stage A

A) A
v B) B
c) C
D) D

Question Type:
Randomize Answers: No
Date Added:

Last Modified:

(3

Pupa

Multiple Choice

Thu 8th Oct 2020

N/A

24,140,157

Question 10

Fupa

At which stage does moulting takes place?

Primary 4 Science » Primary 4 Science (Term 2)

Which one of the following showa the commect life cycle of a rrosquite?

Mymiph

A\

ClassMarker - Manage Test

The following diagram shows the life cycle of a mealworm beetie.

L oe  Stage B

A) 1
B) 2

/

— | Eqg
)
Adull
A N
Pupa Epg
% e
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C) 3
v' D) 4

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 8th Oct 2020

Last Modified: N/A
QID#: 24,140,168

Question 11 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Muthu planted a bean seed and then wrote a journal about the growth of his bean plant. However, he
did not record the growth of his bean plant in the correct order.

A The shoot appears
B The root appears
C The leaves grow
D The flowers bloom
E The fruits grow

Which one of the following shows the correct order?

A) A>C->E->D->B
v B) B>A->C->D->E
C) B->C->A>D->E
D) C->A->B->E->D

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 8th Oct 2020

Last Modified: N/A

QID#: 24,140,223
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v" A) It holds the plant firmly to the ground
B) It carries food to the other parts of the plant
C) It holds the leaves up to reach for sunlight

D) It carries water and mineral salts to other plant parts

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 8th Oct 2020

Last Modified: N/A

QID#: 24,140,243

Question 13 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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The diagram balow shows a seediing and an adult plant.

~ Seedling Adult plant

Which of tha following are true for both the seedling and the adull plant?

Have strong stems

Make their own food

Bear fruits to reproduce ’

Absorb water and mineral salts through their roats

OOomE

A) Aand Conly
B) B and D only
v C) A, BandD only

D) B, CandD only

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,261
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Wdlhlnmuuntadmlnfnmmmﬁmﬂmhinrgmhm P, Zand R and

recorded |t in a table as shown below,
'_.'fh-nnnhm
| Characteristics 3 T a R
Its young moults Yea Yes Yos
l-h-mm its Yes Yes Mo
w- pn:t;l'_.g s Mo Fibn
Basad on the information given, which of the following statoments are correct?
Py

oOm>

A) AandD only

B) Aand C only
C) CandD only

D) B, CandD only

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 8th Oct 2020
Last Modified: N/A

QID#: 24,140,284

Question 15

Q can be cockreach,
The young of A does nel look ke iz adult.

Primary 4 Science » Primary 4 Science (Term 2)

Bre San wanks 1o aew a sl of curlains bo redoce the glars from the 2w during e
daytime. The graph balow shows the amount of light that can pass throwgh each
type of malerial, &, 8, C and D.

Amount of fight that

L‘-I!‘I't pass through

A B C D

Type of material

Wihich one of the folowing matedal should M 5im chopse lo make e window

curtalns?

A) A
B) B

2 pts
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D) D

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 16

Muiltiple Choice
No

Thu 8th Oct 2020
N/A

24,140,301

Item R has the following characteristios.

Has a fed shapa

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

Takes up-a fived amount of spece

Has mass

v A) cork
B) stone
C) needle

D) cooking oil

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 17

Which of the fofowing could item R ba?

Multiple Choice
No

Thu 8th Oct 2020
N/A

24,140,442

T

Floats on waler

Primary 4 Science » Primary 4 Science (Term 2)
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When James pumped more air inlo the tyre, he oheerved that the size of he tyre
resmained (he sama.

Vikich al ihe foliowing best explaing James' observalion?

A) Air takes up space
¥v" B) Air can be compressed

C) Air has a definite volume

D) The type has a fixed shape

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 8th Oct 2020

Last Modified: N/A

QID#: 24,140,467
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The disgram below shows a pair of swimming goggles.

Pat X

Sludy the properdies of the four mabterials as shown below.

Material Property of material
Flexible Transparent Watarproof
A No s Yes
B Yes Yes . Yes
C R Mo Yas
o Mo Ma )

Which malerials are most suitable for making Pan X and Pan Y2

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 19

Multiple Choice

No

Thu 8th Oct 2020

N/A
24,140,477

Material for making
e e
(1) A o
2 B C
2 G A -
(4) D A =
A) 1
B) 2
v C) 3
D) 4

Primary 4 Science » Primary 4 Science (Term 2)
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Wl Chong prepared four containers P, Q, R and 5 with the same volurme af
4000m?, He addad diferent amount of water inte each confainer and sealed B wilh
an air pump aftached as shown in the diagram balow

airpumpedin RO
—— 1
~H ]
1
A00cm® ol waler
150 of
waier
Conlminar P Containar 3

T — 250cm? of water

of walar

Coeitainar A Contairer 5

Wei Chong then pumped 300cm” of air into each conlanes.

Alr was compreased n caniaines

A) PandSonly

v' B) P, RandS only
C) Q,Rand S only
D) P,QandRand S

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 8th Oct 2020

Last Modified: N/A

QID#: 24,140,512
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Adam wsed a table o describe the properties of the three sfates of matter, &, B
and & as shown below.

Property | A B c
Has mass Yes Yo Yos
Can be seen Yes No | Yes
| Can ba compressed No Yea No
| Takes up the shape of ita Yes Yes No
cantainer
The headings for &, B and C should be respactively.

A) Gas, Liquid and solid
B) solid, liquid and gas
C) solid, gas and liquid

¥' D) liquid, gas and solid

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 8th Oct 2020

Last Modified: N/A

QID#: 24,140,537
Question 21 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Rai fifled a containar with water a5 shown in Digram 1. She then put in a metal
cube Into the container and obsarved that the water level rose 28 shewn In

Diagram Z b=low,
, - N, ey
| ——| 180mi
i |~ | 150mmi e
Diagram 1 Diagram 2

Which one of the following statements best axplains Rani's observation?

¥" A) The cube took up space in the container
B) The water increased in mass when the cube was put in
C) The water increased in volume when the cube was put in

D) The cube increased in volume when it was placed into the container
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Question 22

Trrreret

IRRLER]

Diagraam 1

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 8th Oct 2020
Last Modified: N/A

QID#: 24,140,556
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Primary 4 Science » Primary 4 Science (Term 2)

When Faja placed two identical marbles into a beaker of waler, the water rosa to
tha leva! as showm in Déagrasm 1 balow:

Raja than added cne more marbies of the sams alzs inks the beaker of water. He
oheerved that the water level rose as shown in Diagram 2

What would the walar level ba if all the marbies were removed and what property

Question 23

of matier did it show?
Water beval Property of mattor |
1) 250 ml Matter pecuplas spaca.
{2 200 mi Matier has mass.
. @) 200'mi Maller OCCURIEs Space. B
(4} 300 mi Matter ocoupies space and has no
definite shapa =
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,565
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The diagram below shows a glass jar with a capacity of 1000 cm?.

Which of the following statements are comect?

A It can store 500 cm? of air.

B It can store 1100 em? of air.

C It can store BOD cm? of sand.
D It can store 1010 em? of water,

A) Aand Conly
B) B and C only
v' C) A, BandConly

D) A, CandD only

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,581
Question 24 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Jaslin holds an iron sheet near a magnet hung on a retort stand.
The diagram below shows her observation,

retort
stand @

iran sheat -

What could Jaslin conclude?

A) A magnet is strongest as its poles
B) A magnet can repel a magnetic object
C) A magnet can attract a magnetic object at a distance
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v

D) A magnet can make a magnetic object into a temporary magnet

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 8th Oct 2020

Last Modified: N/A

QID#: 24,140,608
Question 25 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Wel Liang set up tha following expedmant as shown in Diagram 1. Four rings of the
same sFe, A B, C and D, are slacked through a wooden rod. Threg of them ame
magnets,

woeadan rod _:B_

e B
-1 B
. [N 4
ST}
| T e e |
Ciagriam 1

The rings are then removed and stacked in anolher way through the wooden rod as
shown in Diagram 2 and Diagram 3.

e
= =

Diagram 2 Diagram 3

Which of the following rings are definitely magnets?

A) BandD only
B) Aand C only
v' C) A, Band Conly

D) A, CandD only

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 8th Oct 2020
Last Modified: N/A

QID#: 24,140,622
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Bala dropped a piece of clay ino a contalner filed with 1000 mil ol waler and
recorded he water level. Next, he moulded 1he same pisce of clay into a ball and
repeatad his expenment.

(“‘“_l'"“u. ball Ay |
5! ., i 3

plece of clay contairar

He recordad the resulis in the table below,

Driginal water level | Water lowol with the | Water bevel with the ball

{mil) pites of clay {mi)’ af elagy {mi)

1000 = 10 1260 J
Based on Bala's resulls, what couskd he conclude aboul the properies of clay and
watar? .
A Bath hawe mass.
B Baoth cocupy space,
b Clay has a definile wolume.
b Water has a definile wolumsa,

A) Aand Conly
B) B andD only
v' C) B, CandD only

D) A,B,CandD
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Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,640
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[°]

Which one of the following best represent materials A, B, C and D?

s A waterproof? Y88 . Does it afiow light
to pasa through?
Mo
Can it be bent? B Mo
" T o
- =

The flowchar below shows the propadies of materials A, B, © and 0.

QID#:

Question Type:
Randomize Answers: No
Date Added:
Last Modified: N/A
24,140,651

Question 28

Multiple Choice

Thu 8th Oct 2020

A c D
(1) | clearglass ceramic fabric
{Z) fabric waod clear glasa
(3 caramic clear glass fabiric
(4) | clear glass tabric wood

v A) 1

B) 2
c) 3
D) 4
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The diagram below shows a surfboarding achivity.

VWhat properties of a surfboard help to ensure the safety of the person?

Strong
Flexible
Waterproof
Able to float

[

A) AandB only
B) B andD only
C) A,BandConly

v' D) A CandDonly

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 8th Oct 2020

Last Modified: N/A

QID#: 24,140,666
Question 29 Primary 4 Science » Primary 4 Science (Term 2) O pts
Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.
Grading: This question type is not graded on this system and will not affect the final score as it
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was designed in such a way that it requires manual assistance.

in Bn axpariment, a group of pupils took fhres young seedings and placed
theam in & jar with damp cothon wool as shown in I_]qag_-amh.
Aftar ome week, they noted te results as shown in Diagram B.

" A Diagram B

ab frem
{a)  Draw and label the parl which ihe pupils would fest absarve growing
the seed n diagram B above. [l |

(15} Thepuplhahnnmk.ﬂﬂﬂlha&mdhmrﬂ&dhs'mm_u:hﬂmhﬁh
difagram above. Explain what had causod the seed to noréase in size.  [1]

&)  Stale one diflerence Detwesn a young pant and the adult plant. it

Question Type: Essay

Date Added: Thu 8th Oct 2020
Last Modified: N/A

QID#: 24,140,701

Correctly answered feedback

(@)

r’rmt

(b} The roots would have to foree ils way throngh the seed to grow
' out of the seed.

ic) A young plant canoof bear fruaits while an adoli plant can bear
fruits,

Incorrectly answered feedback
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(a)

{-,I_Nof

(b} The roots would have to force its way threugh the seed o grow
out of the seed,

fc) A young plant canoof bear fruits while an adolt plant can bear
fruifs,

Study the life cycle of the frog shown bedow carefully.

(@  Which two characieristics of fiving things are shown in the lite cycle of 'lhsr1 ,
frog? 1

(i
(i)

@} \What are tvo differences betwesn the chardenstics of the frog at stage Y
and stage Z of its life cycle?

[Deffarance 1

Difference 2

Question Type: Essay

Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,719

Correctly answered feedback
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{a} (i) Living things reproduce.
(ii) Living things grow.

(b} Difference 1: Stage Y has a tail but stage 7. has legs.

Difference 2: Stage Y breathes through gills while stage Z
breathes through lungs and moist skin,

Incorrectly answered feedback
{a} (i) Living things reproduce.
(i) Living things grow.

(b} Difference 1: Stage Y has a tail but stage Z has legs.

Difference 2: Stage Y breathes through gills while stage Z
breathes through lungs and moist skin,

Question 31 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts

{a)  Label the parts of the plant in the bokes provided, 21

Accepted answers:

v Leaves

Question Type: Free Text

Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,750
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Question 32 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts

Accepted answers:

v leaves

Question Type: Free Text

Date Added: Thu 8th Oct 2020

Last Modified: N/A

QID#: 24,140,752

Question 33 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts

Accepted answers:

v stem

Question Type: Free Text

Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,754
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Question 34

Accepted answers:

v’ flower

Question Type: Free Text
Date Added: Thu 8th Oct 2020

Last Modified: N/A
QID#: 24,140,759

Question 35 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

(b VWhat are The two funclians of Part ) of the plant? 1

(=) Hmdut:nmhmmuinﬁm{ﬁhfhﬂammhmmﬁl

of water abeorbed by the plant?

Question Type: Essay
Date Added: Thu 8th Oct 2020

Last Modified: N/A
QID#: 24,140,871

Correctly answered feedback
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(b} Part (i) allows gaseous exchange to take place and also obtains
sunlight to make food for the plant.

{c)  The more the part (i), the more the amount of water and
mineral salis absorbed into the plant.

Incorrectly answered feedback

{b)  Part (i) allows gaseons exchange o take place and also obtains
sunlight to make food for the plant.

{c)  The more the part (i), the more the amount of water and
mineral salis absorbed into the plant.

Qu estion 36 Primary 4 Science » Primary 4 Science (Term 2)

4 The diggram balow shows a human body syatem.

(a}  What |s the funciion of this system? (1]

Stutly anofher hurnan body system shown below.

B Which sigans Bbeled above hiels in the digeation of food? Explain why.  [1]

{e)  Whal is the function of organ D7 [l

https://www.classmarker.com/a/tests/test/?test_id=1542484&trk=edittest_inrow_edit
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Question Type: Essay

Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,893

Correctly answered feedback

{(a} The system helps the body maintain its shape.

{(b) Organs B and C, as they contain digestive juices to help digest
the food into simpler substance,

i)  Organ I helps to absorb water and mineral salts from the
nndigested food.

Incorrectly answered feedback
{a} The sysiem helps the body maintain its shape.

(b) Organs B and C, as they contain digestive juices to help digest
the food into simpler substance,

fc)  Organ D helps to absorb water and mineral salts from the
andigested food.

Qu estion 37 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

The classification chart below shows the characterstics of thres
animals, P, Q and R

- Animal
young alive £g3s
<] i : Has a pupa Does nol
etage have a pupa
stage
Q R

M%mc&ﬁemmﬂﬂ“ﬂyﬁﬁwammmmmhpmf
i

v'A P
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B) Q
C) R
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,899
Question 38 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Draw the life cycle of an insect that has the same characieristics as animal R,
11

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,912

Correctly answered feedback

(b) Eggs

Adult Nymph

Incorrectly answered feedback
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(b) Eggs
Adult Nymph
QU estion 39 Primary 4 Science » Primary 4 Science (Term 2)
The life cycles of a meatworm bestle and a grasshopper are shown below,
“ﬁ
bmahsomm bestls Grasshopper
(a) Based on the diagrams above, wiite down bwo differences between the life
cyches. [21

Differanoe 1:
Difference 2:

(b} iy is it important for the grasshoppes and mealwonm beatie to lay many eg0s
at ona tima’? 1]

Question Type: Essay

Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,921

Correctly answered feedback
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(a) Dnifference 1: The life cyvele of a mealworm bectle has 4 stages
> but the life cycle of a grasshopper has 3 stages.
Difference 2: The young of a grasshopper resembles the adult
while the young of the mealworm beetle does not
resem ble the adult.
(b}

To ensure that at least some will survive and grow into adults.

Incorrectly answered feedback

ia) Dnfference 1: The life cycle of a mealworm bectle has 4 stages
g but the life eyele of a grasshopper has 3 stages.
Difference 2: The young of a grasshopper resembles the adult
while the young of the mealworm beetle does not
resem ble the adult.
(b}

To ensure that at least some will survive and grow into adults.

Question 40

Primary 4 Science » Primary 4 Science (Term 2)
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tima on different positions, &, B, G, D and E, on the magret until no mone
paperndips wern altracled by the magnet

[ B c b &)

He then recorded his rasults in the table shown below.

EE R

Explain your answer in (a)

Question Type: Essay

Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,955

Correctly answered feedback
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Positian A ||a 3 5] E4
Wumber of papes | 3 |2 1 2 EJ
|__cips |
lumhﬁahdﬂﬁnmwﬂ“mﬁamllnﬂhuﬁlﬂmﬂm
magnetic hooks 1o hang same flems.

A B G 5] E

{a)  Based on tha resulls above, which wo posiions, A, B, L, 0 or E, would he

Luciss conducted an experiment izsing a magnet. He placed one paperclip at a

chocse to hang & 50g weight? (il
il Posiions: and
vV A A
B) B
C) C
D) D
v E) E
Question Type: Multiple Response
Randomize Answers: No
Grade style: Full points if all answers are correct
Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,940
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Position A and E are at the end of the magnet, and as the magnetic strength is at the end poles of
a magnet, the magnetic strength would be the strongest there.

Incorrectly answered feedback

Position A and E are at the end of the magnet, and as the magnetic strength is at the end poles of
a magnet, the magnetic strength would be the strongest there.

Question 42 Primary 4 Science » Primary 4 Science (Term 2) O pts

Sue camried out an experiment using an electromagnet as shown balow
- steal rod

0

VP

pires

She changed the aurmbear of fumes of the wire on the mod and the resulbs wens
recorded in the table balow.

Mo, of turns of wire | Me. of pins attracted |
12 o :
18 4
- 25 )
30 2]
. |
[a) Whal was Sue irying o find out in this experimant? 1]

{b) How could Sue ensure that the results of her experimaend wene mone
relisble® I

{ch Whal could Sua da ko alirasl mone pins besidas increasing the numbar of
lures of wire on the stesl rod? [11

Question Type: Essay

Date Added: Thu 8th Oct 2020
Last Modified: N/A
QID#: 24,140,977

Correctly answered feedback
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()  The number of turns of wire affect the magnetic foree.
() * She could repeat ﬂ'IE. experiment multiple times.

(€)  Suoeconld add more batteries to the electromagnet.

Incorrectly answered feedback

(a}  The number of turns of wire affect the magnetic foree.
(b} ~ She could repeat :hé experiment mulfiple times.

() Sueconld add more batteries to the electromagnet.
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The container below contains 400ar? of alr. David tried to push the phinger
of the syringe and he sbaarved that only a litfle water could enfer into the

coniginer.
plunger
ayringe filled with waler
rubber stoppar
confainef __|
—1_ 40Dcem®
L s
{g)  Explain why pfili a litlie watey could enter into the container. m

(b)  ‘What should David do in order to aflow more water in tha syringe to enier the
container? Give a nesson for your answer. (1]
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()  The air in the container cannot escape. However, air can be
compressed to allow a little water fo enter.

{(b)  He should remove the rubber stopper as the rubber stopper
prevents the air from escaping the container.

Incorrectly answered feedback

{a)  The air in the container eannot escape. However, air can be
compressed to allow a little water to enter.

(b) Heshould remove the rubber stopper as the rubber stopper
prevents the air from escaping the container.
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Sheila added 200 cm® of water inbe Container A. She then pa 200 cm® of

pebbles inte Container B wilh a capacity of 500 cm?®, Next, she poured the
water from Contaéner A into Container B

500 e

200 cm® - =
T ]
wuter pebbles

Conkamar & Container B

Whal woul be the iofal volume of water and pebblies in Conbainer B7 [1]
Put a tick (v ) i the correct bax below

A) 200cm3
v B) 350cm3

C) 400cm3
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{b} Explain your anewer in (a). [1]

&)  Wihe property of malter could Shela cbhisanss from this experimant? [

Question Type: Essay
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Correctly answered feedback

(b}  The pebbles have air spacings in between them and the water
will take up the space previously occupied by air.

{e)  Matter occupies space.

Incorrectly answered feedback

{b)  The pebbles have air spacings in between them and the water
will take up the space previously occupied by air.

{e}  Matter occupies space.
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Sheila explored further by using two cubes of the same size but made of
different types of metals as shown in the diagram below,

= S0g dog

Cube A Cube B

She fied a siring to each of the cubes. When she lowerad Cube A gently into
a measuring cyfinder containing 30crm of wetar, tha wates lewed ross up1!:|
450, She removed Cube A and lowered Cobe B into the same measunng

eylinder,
[d] WWhal wouhd be the new water level? State the commen proparfy of the
cubes ! i1l
i@l What could E.nal.la conclude from this experment? [
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Correctly answered feedback

(d) Water level would be the same, as both cubes have the same
volome.

(e}  The mass of an ohject does not affect the volume of the object.

Incorrectly answered feedback

(d) Water level would be the same, as both cubes have the same
volome.

(e}  The mass of an ohject does not affect the volume of the object.
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Four thin sheats of similar slee materdals A, B, C and D wane used for thia
expariment The table below ahowe the masse of these sheets bafore and afier
theay wera put Into four beakers, each containing an equal amount of water.
' Material Befors After 20 minutes
A, Bg Bg
B Mg 18 §
c 18q 204
= 1] 13g ; 1&g
(a) Based on the rasulls given, explain which matarial you would uss fo make a
pair of gloves. [1

Beena wears a pair of gloves msde fram the materdal chosen in (a) o keep
her hands dry when dolng househodd chores a3 shown balaw,

(B}  Based on the plcture, st one impaortand property of this méateral and

explain why. (1
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Correctly answered feedback

{a)  Material A, as it did not absorb any water. The pair of gloves
needs to keep the person dry thercfore, material A is suitable to

make i

(b} Animportant property is waterproof as it ensures that the
asers’ hand is dry when using it.

Incorrectly answered feedback
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(b} Animportant property is waterproof as it ensures that the
users’ hand is dry when using it.

{a)  Material A, as it did not absorb any water. The pair of gloves
needs to keep the person dry therefore, material A is suitable to
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object X

iran nail

iy

steal paper

0

clip

— |

{a) What could object X be? Explain your answer

Mary decided to perform a magic trick for her friends. She prepared the set-up
below. An iron nad and a steel paper clip were fed o a siring of length 25cm

and wes attached to the base of the booe. Without touching the steel paper clip
and the iron nail, Mary was abls to make therm “flost” in the box.

i

{b) However, Mary was unable fo perform her magic trick when she cut
her slrings to a shorler length. Give a reason for your answes.

M
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Object X conld be a magnet. The iron and steel paper clips are
magnetic objects. Fence, it attracted magnetic object so'they
“Moat™.

Magnetic sirength wasn't sirong enough to attract the iron nail
and the steel paper clip at a furthest distance from the top of
the box. :

Incorrectly answered feedback

(a)

(b)

Object X conld be a magnet. The iron and steel paper clips are
magnetic objects. Fence, it attracted magnetic object 5o they
“Moat"™.

Magnetic strength wasn't strong enough to attract the iron nail
and the steel paper clip at a furthest distance from the top of
the hox. :
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